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What is TRUE for prior art search process?

Select one:

a.

Patent search should be done via the World Intellectual Property Organization.

The official Patent Office examination is regarded in law as conclusive proof of novelty.

Obsolete technologies or products are not considered as prior art.

Ideas that never reached the market are not relevant in patent search.

The goal is to find evidences whether your idea is new or not.

The correct answer is:
The goal is to find evidences whether your idea is new or not.
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Question 2
Complete

Mark 3 out of 3

Why do we prepare ourselves for the worst case scenario?

Select one:

8- Because we want to be the winner even in that situation

b Because our company should survive the worst case situation
¢ Because we want to defeat our competitors

d. Because we can not imagine that situation

e.

Because we do not want to spend our money on unrealistic things

The correct answer is:
Because our company should survive the worst case situation

Question 3
Complete

Mark 4 out of 4

In the St. Petersburg paradox, the prize is the Nth power of 2. What does N stand for and what is the contradiction in this paradox?

We are flipping a coin multiple times. The number of flipping the coin is N.

The paradox is that the expected value is endless, but people wouldn't play with this game.



Question 4
Complete

Mark 3 out of 3

What are the expected functionalities of projectmanagement softwares?

Select one:

- All the other options are expected functionalities

b. Result visualization in sevaral aspects

< Relationship with other projects for multiproject management
d. Output recalculation after any modification in the project

e.

Comparision between plan and real performance

The correct answer is:
All the other options are expected functionalities

Question 5

Complete

Mark 3 out of 3

What is the fundamental theorem of game theory?

Select one:

8- Every matrix game with pure strategy has solution.

Every matrix game with pure strategy has exactly 1 solution.

C Every matrix game with mixed strategy has at least one solution.
e Every matrix game with mixed strategy can have 0, 1 or more solutions.
e.

Every matrix game with mixed strategy has exactly 1 solution.

The correct answer is:
Every matrix game with mixed strategy has at least one solution.



Question 6
Complete

Mark 0 out of 3

In a knowledge based organization the following categories

exist
Select one:
a.
IT servers, program-designers, process organizers
b.
experts, managers, supporting staff and director
C. .
workers, leaders, secretariat and customers
4 Intraweb administrators, platform-providers
e.

students, teachers, parents and family members

The correct answer is:

experts, managers, supporting staff and director

Question 7

Complete

Mark 3 out of 3

Which IS NOT a main effect or goal of innovation?

Select one:

Innovation is the main source of competitiveness of enterprises.

b |nnovation enhances the quality of human life.

©  Innovation is the most important engine of economic development.
d- Innovation is for serving technology regulation processes.

e.

Innovation promotes the development of the mankind.

The correct answer is:
Innovation is for serving technology regulation processes.



Question 8
Complete

Mark 3 out of 3

Ingelhart Welzel Cultural Map shows

Select one:

3 The habits of people in different countries

b The behavioural differencies among different global regions

S The expectations of people in different countries

d. The results of worldwide value survey findings in two dimensions
e.

The political opinion of people in different countries

The correct answer is:
The results of worldwide value survey findings in two dimensions

Question 9
Complete

Mark 3 out of 3

What does "D" in DMAIC acronym stand for?

Select one:
a. Define
b. Draft
c. Develop

d. Determine

The correct answer is:
Define



Question 10
Complete

Mark 3 out of 3

Where is the chasm in adoption of innovation?

Select one:

a- Between early majority and late majority

b Between innovators and early majority.

¢ Between innovators and early adopters

e Between early adopters and early majority
e.

Between late majority and laggards

The correct answer is:
Between early adopters and early majority

Question 11
Complete

Mark 0 out of 3

Framework providing intuition, creativity and variability is part of ...

Select one:

Liberal managerial style

b Authocratic managerial style
¢ Democratic managerial style
d- Each managerial style

e.

None of the managerial styles

The correct answer is:
Liberal managerial style



Question 12
Complete

Not graded
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Question 13
Complete

Mark 8 out of 8

What are the differences between the project management triangles in “classic” and “agile” project management? What is the difference
between the priorities of the triangular elements (i.e. the priorities of the vertices of the triangle)?

The question in classical project management is that a task with a given scope in what time and money can be implemented.

While the question in agile project management is that in given time and money what scope can be implemented.

So the scope-money-time triangle is "upside-down" for agile project management.

Otherwise the agile project management accepts changes of the project easier, focuses rather on the product and the customer instead
of too many administration etc.

Word count: 76



Question 14
Complete

Mark 3 out of 3

Which IS NOT international or European standardization organization?

Select one:
4 wTto
b gt
¢ IEC
&
€ 150

The correct answer is:
WTO

Question 15
Complete

Mark 3 out of 3

Which legal action does not belong to EU's secondary laws?

Select one:
a. Treaties
b. Regulations
c. Decisions

d. Directives

The correct answer is:
Treaties
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